Efficiency vs P,

= 0.4
o

2 0.09F
>

2 0.08F
o
0.07F
0.06F
0.05F
0.04F
0.03F
0.02F
0.01

e

=)

Ratio
o
O

o
o)

0.7

=
o
iN

1

10

[—=— DQM_VUUUI_RUUUUOOOUL__Global__ 1

—e— DQM_V0001_R000000001__Global__mkFitOriginal
—— DQM_V0001_R000000001__Global_mkFitNew__RECO
—— DOM V0001 _R000000001__Global

cmssw__RECU

RECO
mkFitNew05__RECO

-~ 0.2
g) r
20.18
(C) r
5 0.16
5] E
£0.14F
(]
0.12F
0.1
0.08F
0.06
0.04
0.02

...............................................

...........

...................

....................

............

...........

Ratio
=

0.8

0.6

|
w

Efficiency vs ¢

TP N

o 0.1-
o E
Z 0.09F
2 :
50.08F:
o .
£0.07F
o :
0.06F
0.05F
0.04F

0.03F-
0.02f -1+

.01 |-+

Ratio

0.8ff -
It




	Contents
	Page 1


